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rooms Cladophbra (2) Chlamidomonas, Mould
il (4) Paramaecium , Cladophora

(1) Endoplasmic Reticulum , Golgi bodies (2) Mitochondria, Vacuoles
3) Endoy ic Reticulum, Mitochondria  (4) Nucleus, Vacuoles

03) Wh

(3) Photosynthesis (4) Combustion

wi n‘Pressure inside lungs decrease than Atmospheric pressure
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(08) Select the two diseases caused due to Recessive genes linked to the sex chromosomes.
(1) Thalacemia, Haemophilia
(2) Thalacemia,Red-green coiour blindness
(3) Red-green colour blindness , Haemophilia

(4) Anemia, Thalacemia

(09) Which statement is correct regarding 'Human Ovum'?
(1) There are23 pairs of chromosomes in it
(2) Production of 'Ova' commences with puberty
(3) Follicle cells grow into 'Ova' inside the Ovary

(4) Fertilization of 'Ova' take place in uterus

(10) Following are some statements aboutVii‘uses,
A-Reproduceinside living cells
B-Consistof DNA and RNA
C - Viruses are cells

D - No metabolic activities take place inside viruses

The true statements are,

1) A @) A,D /C ) B,D

(11) Select the graph that illustrates ghe Relationship between Transpiration rate and Atmospheri¢

(-

Humidity.
Rate of Rate of ‘Rate of '
: Rate of
Trailratmn Transpiration T'l‘ransplratlon Q) A Transpiration

Humldlt)’ : llumldlty Hnmldlty llumidity>

(12) Types of cells belong to Plant tissues in left side are given in Right side without order.

Plant tissue _ Cell types
1. Phloem ; A. Tracheids , Vessels
2. Scelerenchyma B. Pallisade cells, Spongy cells
3. Parenchyma C. Sieve tube cells, Companion cells
4. Xylem D. Fibres,stone cells [Sclerides]
Select the correct order of cell types according to the given order of Tissuesas 1,2,3 ,4
‘(1) A,C,D,B 2) C,D,B,A 3) B,A,C,D “4) C,A,B,D
(13) Select the answer with Correctsymbols of electron, pfoton and neutron.
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Diagram below depicts the bonding nature of a chemical compound,

L —— —

ced and B is Oxidized
etal and B is a metal

Energy * ;

Products

A Reactants

i deduce about the reaction
and energy of reactants are more than energy of products
icand energy of reactants are less than en, 2y of products

mic and energy of reactants are less?

‘methane and a mole of carbon dioxide,
(2) molar masses are equal
(4) no.ofatomsare equal

ofblue colour increases first sand then turn to yellow
~’_§;

of metals given, Mg,Zn,Na,Cu

9 n'treactwith dil acids, . : '
(2) Zn - (3) Na ; (4) Cu

(2) Mg,Na,Zn,Cu
(4) Na,Mg,Zn,Cu
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B.

)

(i)

(iii)

(iv)

(vi)

(02) A.
()

(i)

(iii)

Sweet toddy is a sugary solution. when exposed to air this sugary sweet toddy converted:
toddy through this reaction. b

micro-organisms
C.H 0, (aq) € P 2C H,OH(aq) +2CO, (g)

6 12

Glucose Ethanol

Name the micro-organism who involve in above reaction.

State the method of respiration , microorganisms follow. . ' 3
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Calculate the molar mass of Ethanol. (C=I2 ,H=1,0=16)
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Whatis called a 'Tissue'?

State two places of Human body , where the tissue 'a' is found.
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(04) A.

(iv) 'Atomic lattice' of one elementabove can be drawn as below. :
(a) Whatis thiselement......ccoocveniniiiciinnininiinin. Ui WSssisiseiansonabvastl g

(vi) Worite the formula of compound , formed by the reaction between elements Fand C.

7 (vii) Asetup arranged to investigate the bond types of Cuso, and Glucose is given below.

Electrodes

aqueous solution
of compound

Name suitable substance to use as electrodes , which do not react with electrolyte

()
(b)
©

R

4 C.
(P2 ?l)
' m'—' i A® B
(i) (a) Drawtheway,you connectthe bulband battery inabove diagram
(b) State theinstrument,you connect the gap between Cand D.

INY o
0
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(i) NameE and Finstruments
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d opposite forces act,
(4) A,BandC

ere unloaded, sand was put around the

ypmmf ) T
b ﬁreeslalementsarcaboutthesuccesst 3 %,
L

28) What

Water Water | air

ormed in front of mirror.

R T

o C

J rrect statement about the mirror xi i,ﬁ

concave and image locate betweé] 3} { nd jx

ris concave and image locates betwe g} ui]
"s convexand i lmage locates betwee 'Qd

High
na 1 positively charged rod take closer to the disc

Aand B he
Falansl. l",‘t\ il " A
oL elect rgence 13 reasedy vhat were the charges of A and B electro

CODES,

“)

P P
rrectway of connecting three w

B -live O O
C-live B C

B - neutral 4 ;
A-live -
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(33) —)-
e ,

(34) Apartofthe circuit belong to Home electric circuit is given here. In which circuit diagram, two bulbs '.';._y
lighted at the same time through one switch.
(1 (2) &) “
L e N P L | Vad N[ e !
(35) Avesistor of 10002 has drawn below with P, Q and R bands. what should be the colours of P, Q and R bands,
| Black-0 , Brown-1 , Red-2]
)t
i
(1) P-Black Q -Browi
sracs - (2) P-Brow: Q-Red Re= Blackome oot
Retrownis@)sPeRed s Q-Black S REBrowne
) PR FOWI eSS O S Bl ek “R<Red
36 JiS
(36) A
Select the correct statement about A and B
(1) A-Diode B - Symbol (2) A-Capacitor B - Symbol
(3) A-Diode B -Symbol of a diode (4) A-Capacitor B -Symbol of a diode
(37) When a sample of Iron wool kept exposed to the air under normal atmospheric conditions , get rusted :'fi"-
But when heated, it burns quickly releasing sparkles. These observations revealed that , the rate of reactionls
affected by,
(1) Concentration of reactants (2) Physical nature of reactants
(3) Temperature of the system (4) Catalysts
(38) Among the trees which produce bio fuel , which plantis not useful to provide food for humans.
(1) Maize (2) '"Weta Endaru' (3) Sugarcane (4) Sunflower
(39) Oneoftheworld's main environmental issues , we experience today is,
(1) Acidrains (2) Global warming
(3) Reduction of bio diversity (4) Depletion of Ozone layer . .
(40) Itis believed that the reason for a certain sickness suffered by people in Dry zone of Sri lanka is due (%

I - diagram =
: 2 - diagram
Select the correct statement regarding diagram one and two

1 - diagram 2 - diagram
1 OR Gate Electric circuit with OR gate
2 OR Gate Electric circuit with NOT gate
3 NOT Gate Electric circuit with NOT gate
4 NOT Gate Electric circuit with OR gate

. . Pty 1 A . 2 . aacels
contamination of drinking water by chemical compounds, industrial effluents-and pesticides. That disease

(1) Diabetes (2) Heartattack (3) Kidney diseases (4) Gastritis  yyegern pro':
) -N6- ‘ oL es catanl




" (b) Abov x’inentioned reaction (a) belongs to neutralization type of reaction. state one use of
‘ neutr lization reactions in daily life

Atmospheri air is a mixture of different gases and dust particles. Various environmental changes
has been taker place inour environment due to the increasement of atmospheric sulphur dioxide.
(i)  Whati he main environmental issue arise due to the above mentioned incident?

(i) Me "'onehumanactivitythroughwhichsulphurdioxidegasisaddedtoourenvironment

(iii)  State ‘%‘cﬁon we can follow to limit the addition of this gas to environment.

(iv)  Sulphur dioxide dissolve well in water. What is the p" value of resultant solution ; above p"7,
' "7 or equal to p"7?

the balanced chemical equation for above reaction.

J ing that the collected acid as Hydrochloric , calculate the amount of moles of
jcarbonate that react with acid.

o Y 0 0 ] oY Al

. oA A '-:; "‘ i¥ AT oy ..J‘.ikméb( X
Stateone fa -;or wlnch can be used to measurethe quality ofwater.
Purificati

method

Stat other method, suitable to purify water.
'substance added to water for purification purpose.

(20 marks)

S

Physics | 3

A, B and C three objects are made of
three substances; Plastic , Iron and wood
separately. Their locations in water vessel is
shown here

Glass
vessel

—— Water

< SN, Weslcfn Pfo\lncc
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(07)

(b)

(i)
(i)

Salt production is carried out industrially 3

A ‘environ) u ; ] ] f';‘ de the body is called Homgs
' .such é 3%& PN %
_vghho 160stasis)

R

ce this diseases condition.

b
3

o L%
»;‘

; > '3!,;}
(d) Name two features of above dlst} se.

mentioned organ.

Rock salt method. [ore method| E
A. v “ HELOTY T8
(i) Which method is used to produls ﬁ ST i la“' *; i
(i)  Whatisthe phenomenc ’ @\ i -. ,i emei 5u i’
(iii)  Stateone climatic conditicfi and oni’g grapl o
considered when selectinga place t(,; i bllshé
(iv)  Asaltern consists of three types o i
water is pumped into this tank firsti :
(a) Whichsaltorsubstance get predipit
(b) Again at the second tank , aill
precipitated saltin second tank}",;;,.:f-j : |
(v) Common salt get precipitated in th ;’ Q_%'nk a ! ‘ gnes give bitter taste and becomeMt
,When exposed to air. this sntuatloné’: %' sider bl¢matical.
(a) Namea constituent which causes this problc & ic condition.
(b) State two steps that could be foli‘ ;&ia'd durlfﬁ " }"f “‘:"duction to overcome this prolal)
B.  Abottlewithasolutionin laborator}’ alabel g s f0
5% o (i) Whichtype‘qf Jlution: "'"'f '_l
NaOH(aq) (ii) Namethes li)‘ g;an(lt ‘% Fug
2011.05.18 (i) NaOH solu thas stroug '
phrase of tll 9{‘_ temc“ o “
(iv)  Whatis the mass of NaOH necessa ég( em %3 " '
solution. ,_.L i . é¢:§l$ !
(v)(a) If 10cm’ of above solution of NaOH51¢ d. ih 0

the balanced chemical equation forithéveaction | |
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e the substance, that objectAis 1ade of? i s (1 mark)
object B reads 100g mass , w,hen hung i;\ itg with the help of spring balance , what
(1 mark)

(2 marks)

, (1 mark)
S : gm" , from an experiment done in
' : b ?, of water=1000kgm” | (1 mark)
{ (l mark)

by I
alculate the pressure act on obje(%t {A ; whél !

.:lOms |

the immersed partofthe object becon'

v do you name this phenome}jbn (gl 'h (1 mark)
ject was taken out from w;l} l} (then lj ;\t{;i é\p to 100°C and put again into water
n the temperature of watg,i’ ¢1sselinén}éas‘ d &ﬁ*adually

he 100°C temperaturein Kc} ?n v ll{ gf,‘_!,; (1 mark)
the methods of heat transxt‘;ﬁslonzn fllosing

'hen heating theiron objeq»)jiSide{l\ (l mark)

{5 ark)
AN s i , (2 lraarks)

1€ "} 0 ipt of heat received by water.

)

.
| régsg]

}
pdlis oscillated; then all the other balls
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touch together and make a noise, along with the flickering of the bulb for sometime.

(1)
(i)

(iii)

(iv)

(v)

(d)
(e)

Write down the energy conversion takes placein the above setup.

(a) Whatis the type of waves produced by vibration of balls.

(b) Explainyouranswer.

This wave diagram depicts the vibration of lead balls at a certain moment

(a) Whatisthewavelength?

(b) Calculate the distance AB.

(c) State the minimum value of P,if the distance between two iron ballsis 1e¢m
Atsome instances though the lead balls vibrated the noise is not heard. Give reasons.

The time interval taken to flickering of bulb was 25 seconds A
(a) Findthedistance moved by the lead ball during this time interval «comoamie g
(b) Calculate the displacement of lead ball during this period '
(¢) When the het lead ball collide with Pend oqutter,the lead ballwhich isin gutter Moy

d' a'ls givent below copyitand fill theblanks NI m‘

Displacement (cm) 2 4 6 10
Time (s) 5 15 20 25
Velocity (lcms") 0.8 12 1.6

Name the type of motion, according to data.
Draw the rough shape of the v-t graph , for the above motion
: (20 marks)
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